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Question 1: Complete the following statements:

1. electric bell – winch    2. decrease  3- (igneous or sedimentary)  4. ionic- single covalent   
  5. reflecting - refractive    6-fragmentation , disintegration and deposition   7. hydrogen - hydroxide
Question 2: Choose the correct answer to complete the following statements:

1- b) sodium hydroxide.   2-  c) outer core         3-  c) Jupiter    4- c) friction forces 

Question 3: Write the scientific term that indicated by each of the following statements:

1- The weight   2- periodic motion.      3-  rock      4- Lava and lava flows:  5- The inertia.  6- The valancy  7- chemical reaction
Question 4: Name the specimen from the following characteristics:

1- basalt    2- marble     3- granite  .

Question 5: Give reasons:

1- bec lava cooled quickly on earth surface so minerals to small time for solidification so its size small
2- due to the earth atmosphere which form white color surround earth .

3- bec lightning is electromagnetic waves faster than thunderwhich  considered mechanical waves which have low speed .

4- due to inertia force keep its state from motion
5- bec each atom share by one electrons only in covalent bond .

[image: image5.emf]Question 6: Write the electronic configuration for the following elements: 17Cl 11Na 19K
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Question 7: Write the technological applications used in the following fields:

1- ultraviolet .   2- infrared rays.     3-  visible light .

Question 8:  By add hydrochloric acid  in each one lime stone give 
· An effervescence takes place when hydrochloric acid is added to a sample of limestone

· No effect  take place  in case of sandy stone  

Question 1: Complete the following statements:

1- nitrogen – sulphur    2- ionic- single covalent   3- hydrogen – hydroxide    4- N H4Cl  
5- 2CO2     6- H2O – H2S O4    7- HCl- NaOH    8- Mechanical – electromagnetic   9- winch
10- infrared rays   11- mercury – Jupiter   12- refractive – reflecting   13- hydroxide  13- mantel – core   14- the ozone layer   15- feldspar – mica    16- igneous “ plutonic” – sedimentary    

17- Richter - seismograph
Question 2 : Write the scientific term :

1- positive ion  2- negative ion  3- covalent 4- inert gases  5- valency     6- metals    7-  chemical equation.  8- chemical bonds   9- periodic motion   10- Translational   11-  light year .  12- planets   13- moons     14-  meteorites .    15- crust       16- rocks     17- fault   18- the earthquake    19- volcano
Question 3 : Define

1- Is an atom lost an electron or more during the chemical reactions.
2- It is a set of atoms joined together, behave like one atom only having a special valency &
 cannot be existed individually.
3- Is an effect attempts to change the objects phase from being static to motion or vice versa or attempts to change the motion direction.
4- The property of an object to resist the change of its phase from rest to motion unless an external force acted upon it.       
5- they are  Celestial bodies which penetrate the atmosphere& some of them reaches the earth's surface.          
6- Celestial bodies which consist of head& tail and composed of rocks, ice& solidified gases.                 
7- is the satellite of earth, which is affected by its gravity.  
8- They are celestial bodies which are formed of stones& rocks (rotates around the sun between Mars & Jupiter)    .

10- They are small solid planets . They have high density , and They all have atmosphere except Mercury.
11- Rapid& successive shaking of the ground, take place one after the other.
12- It is an opening in the earth's crust which permits the passage of 

molten Materials ( Lava)& the poisoned gases outside it to the earth's surface.
Question 4 : Give reasons for:

1- bec its outer energy level completely full with electrons 
2- bec  ionic bond take place between metal and non- metals while  covalent bond take place between non- metals
3- bec each oxygen atom share by two electrons only in covalent bond .

4- bec it gives positive hydrogen ion which turn litmus to red
5- because it gives negative hydroxyl ion which turn litmus to blue  
6- due to the formation of ammonium chloride
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                NH3       +    HCl                      Conc
NH4Cl ↑  

7- bec most of industries needs chemical reactions and vital process in human body takes place through chemical reactions 
8-  as it causes  air pollution and lung cancer..

9- bec  it causes headache, fainting in addition to severe stomach aches

and may lead to death.
10- due to the effect of inertia force  .

11- to protect it from corrosion and rust 
12- bec distance in space is very far from each other 
13-because it have atmosphere – hydrosphere – suitable pressure and temperature
14- as it make steadfastness for hydrosphere , atmosphere and living organisms 
15- bec it cools down under the soil surface which causes  the collect of large particles 
Question 5 : Give one difference between each of the following :

1- Acids and bases. ( turn blue litmus paper to red – turn red litmus paper to blue )
2- Light waves and sound waves.   ( electromagnetic waves  – mechanical waves  )
3- Inner planets and outer planets.    ( rocky bodies – gaseous bodies )
4- Granite and limestone.   (“ igneous plutonic”   -metamorphic” )
Question 6 : Correct the underlined words:

1- Oxides “  acids “ .      2- Mass “ weight “.   3- the heat energy” mechanical energy “ .

4- aluminum  .” Nickel “      5- Granite is a sedimentary rock. “ igneous plutonic”  

6- barometer.  “seismograph “
Question 7 : Give one example for each of the following :

1- sound        2- winch .    3- basalt 
Question 8 : Choose the correct answer :

1- oxygen     2- H2SO4     3- NaOH      4-CO3    5-sterilizing the sets of surgical operations rooms 

6- galaxies    7- elliptical       8- Mercury   9- Jupiter  10- core    11- iron and nickel   
 12- celestial bodies     13- plateau 
Question 9 : Put ( ✓ ) in front of the correct statement and ( X ) infront of incorrect one and correct the wrongs :-
1- ( ✓ )    2- ( X ) blue    3- ( X ) 70%      4- ( ✓ )5- ( ✓ )       6-  ( ✓ )    7- ( ✓ )  8- ( ✓ )
9- ( X ) 5 to 7 Richter 

Question 10 :A-What do you expect in the following cases :-
1- white fumes from ammonium chloride .

2- the electric energy changes to magnetic energy form electromagnet
3-  at the case of accidents person push for ward due the inertia
4- ultraviolet rays causes harmful effect on human healthy.

5- There is no atmosphere.

6- celestial bodies and outer space still as secret for us
B- Compare between each of the following :-

	Periodic motion
	Transitional motion

	1. It is a motion which is regularly repeated in 

  equal periods of time.   

1. 2. It doesn't have initial or  final position.                          

Examples:

1. Vibrating motion: as in the simple pendulum.

2. Circular motion: as a fan arm while it is on.

3. Wave motion: as when a piece of cork is thrown in water.
	1. It is a motion in which the  object's position is changed relative to a fixed point from  time 

to time. 

2. It has initial & final position.

Examples:

1. Train motion

2. Bike motion.


	Points
	Metals
	Non- metals

	1.Luster(shining)
	They have luster (are shiny).
	They don’t have luster (aren’t shiny).

	2.Conductivity of heat
	They are good conductors of heat.
	They are bad conductors of heat.

	1. Conductivity of electricity 
	They are good conductors of electricity. 
	They are bad conductors of electricity.

	2. The state at room temperature
	They are solids except mercury which is liquid
	They are solids, liquids and gases

	3. Malleability or hammering
	They can be hammered to form sheets.
	They can’t be hammered.

	4. No of electrons in the outer most energy level
	They contain 1, 2 or 3 electrons in their energy shells.
	They contain 5, 6 or 7 electrons00 in their energy shells.

	5. Examples
	Gold- Mercury- Aluminium
	Sulphur - Oxygen- Bromine


C- Explain with drawing the inner structure of the Earth .
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Question 11 : Mention the chemical formula of the following compounds :-

A- HCl    B- H2SO4   C- HNO3   D- NaOH       E- Ca ( OH )2    F- Na2O   G- SO3   H- NH4Cl4
I- Ca SO4    J- AgCl
Question 12 : General questions :-

1- Which of the following graph expresses an object moving with a uniform velocity?

2- Mention one application for each of the following:-

1- Night vision sets in military.
2- To sterilize the sets of surgical operations rooms
3- Detecting the bone fracture – examining mineral 

   raw in industry  (to show errors, pores & cracks)
4- Photographic cameras. - T.V cameras – data shows
· 5- Medical purposes as the treatment& discovering some  swellings.
3- Problem

Mass= weight / Earth’s gravity = 98 /9,8 =       newton
Q13:   1- ( 10-10)        2- (4 -1)       3- (6- 3)   4- (5- 8)         5-  (2 -4)                6- (11-4)       7- (9-11)
  8- (7 – 7)                    9- (8- 6)
Test ( 1 )
Question 1 : Complete the following statements:

1- ozone layer    2- electric bell   3-control the car motion     4- mechanical - electromagnetic .  5- mass
6- igneous “ plutonic” – sedimentary    
Question 2 :A- Define :
1- Rapid& successive shaking of the ground, take place one after the other.
2- Is an atom lost an electron or more during the chemical reactions.
B- Write the scientific term for the following sentences:

1- positive ion   2- chemical reaction   3- metals    4- chemical equation  5- weight    6- inertia
Question 3 : Give reasons for:

1- due to the inertia force 
2- bec the sound is mechanical waves  which need medium to travel through and doesn’t travels through vacuum  
3- bec they are very far from each other 
4- bec each one share by two electron during the formation of double covalent bond 
Question 4 :A- Choose the right answer :
1- non metallic elements    2- H2SO4    3- celestial bodies   4- friction forces     5- earthquakes 
B- Compare between:1- Electric generator – Electric motor .

	Electric generator
	Electric motor

	Electric generators: are sets converting the

mechanical energy intoan electric one such as

dynamo.
	Electric motor: Works on converting electric energy into mechanical energy such as the electric motor in the fan or the blender (mixer ).


2- Bases ( alkalis ) – Acids .

	Bases ( alkalis )
	Acids

	They are compounds that produce negative

hydroxide ions when decomposed in water.

Aqueous solutions of bases taste is bitter and

feels slippery, it changes the colour of litmus

to be blue due to the presence of (OH-).
Ex:- Sodium Hydroxide ( caustic soda )

Potassium Hydroxide

Calcium Hydroxide ( Lime water )
	Acids are materials that dissociat in water

producing positive ions of hydrogen (H+).

Acids are common in some of its properties

such as : the sour taste and changing the

colour of litmus to be red due to the presence

of the hydrogen ion (H+).
  As :- Hydrochloric Acid

Sulphuric Acid

Nitric Acid




Test ( 2 )

Question 1 : Complete the following statements:

1- erosion and transportation  2- hydroxide    3- elliptical – perpendicular    4- Newton      5- light year
Question 2 :(A)Define :-
1- Acids are materials that dissociate in water producing positive ions of hydrogen (H+).
2- The number of positive protons inside nucleus 
3- ability of earth to attract object to ward its center
4- is a property of an object to resist the change of its phase from rest to motion in a regular speed and in a straight line unless an external force acted upon it.
(B) Write the scientific term :-

1- periodic motion     2- asteroid wandered belt    3- noble gases
Question 3 :(A)Compare between each of the following :
1- Positive ions and negative ions.

	Positive ions
	negative ions.

	is an atom that loses an electron or more during the

chemical reactions.

	is an atom that gains one electron or more during the chemical reactions.




2- Ionic bond and covalent bond.

	Ionic  bond 
	Covalent bond 

	is a bond resulting from the electric attraction between a positive ion and a negative ion.


	is a bond resulting between two non - metallic atoms through the participation of each atom with the same number of electrons to complete the outer electron shell of each atom.

• Types of covalent bonds:

1- Single: a pair of electrons ( one electron from each atom).

2- Double: 2 pairs of electrons (2 electron from each atom).

3- Triple: 3 pairs of electrons (3 electrons from each atom).



(B) Correct the underlined words:

1- heat  (mechanical ) energy .  2- aluminum.(nickel)    3- Salts  ( alkaline )
Question 4 :(A) Choose the correct answer between brackets :-
1- NaOH     2- crust    3- electric bell     4- friction force     5- fan motion     6- sound waves 

(B) Give reasons for:-

1- due to change of gravity from planet to another.

2- due to evolution of carbon dioxide gas 
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